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35. | S ={(HH)(TT)(HT)(TH)} Vo
n(sS) = 4
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m
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FRFICAD | A, PO BNRH DITCINSTONTS Yo
Oe3s : XPY R BEISITY 2908. 72
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BPX = 90° (ii) (. BPL XY) Ya
(i) 0= (i) <Y TP&TIN
| APX + | BPX = 180°
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A, P, B2,0TH A0¥3es0nnzgmonds. Yo 3
42. SMeE0T | ¢ x fx x-x=D| D? fD?
1-5 4 3 12 -5 25 100
6- 10 3 8 24 0 00 00
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N=10 2 fx=80 > fD?= 250| 1%
pleprte] x:ZfX_@_S Yo
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MOT MWITIY, °P; AFRFY 002220BTH
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5000 8,038 3@ VT Roadfiss = 240. Yo 3
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1
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16 . #(n-k¥)(n-2) = 13(n+1)px(n-JX) Yo
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3
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_ cos. 0 N cos. 0 "
1+sin® 1-sin®
cosO(1l-sin®)+cosO(1+sinbd) »
= 2
1- sin2 0
cos 0—cos0.sin®+cosO+cos0.sind »
= 2
1- sin2 0
2 cos 0
= Yo
cos2 0
cos 0
= 2secH Yo
NTIN = WOPIN 3
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NBWPIN = cos (A + B)
= cos (60° + 30°) Yo
= cos 90°
=0 Yo
OPON = cos A.cos B — sin A.sin B
= cos 60° . cos 30° — sin 60° . sin 30° Yo
1 43 J3 1 .
= —X— | = | —Xx— Yo
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3
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+ by S

x2-10x-2000 = 0
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x(x-50)+40(x-50)=0
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x = 50, -40
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IIRBOHYDE DR PENT Foad = 50.

(ZZatwp)

4

x2-5x+3=0

a=1, b=-5, ¢=3
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i) (m+n)2+(m—n)2 =(m+n)2+[(m+n)2—4mn] Yo
= 52 +5%2-4(3)
= 25+25- 12
= 50 - 12
= 38 Ya
i) (m+n)3+4mn=(5)3+4(3) Ya
= 125+ 12
= 137. Yo 3
46. | AMZ2 +CN? = AB? + BM? + BN? + BC?
(AB? + BC? = AC?) Ya
AM? + CN? = AC? + BM? + BN? Ya
2 2
- ac? L[ BEY L[ 4B 7
2 2
2 2
AmM?+ cN? = ac? BT ABT
4 4
4AC? + BC? + AB? .
= Y
4
4 (AM?+ CN?) = 4AC? + BC? + AB? Ya
(BC? + AB? = AC?)
4 (AM?+ CN?) = 4aC? + Ac? Ya
4 (AM2+ CN?2) = 5AC?. 3
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A AOB 0@ | O = 90° 72
AB? = 0A? + 0B? Ya
2 2
_ (A_Cj +[@j Ya
2 2
2 2
_ AC® BD ”
4 4
2 2
AC? + BD
AB2 = 22 27 7
4
4AB% = AC? + BD?. Ya 3
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03T : AG = DE 08 AH = DF &1@od AB oD 8¢S G &8 AC oD

206 H Doonteay, codR. G a3y H 3y A0R. Yo
S AAGH &%) A DEF R
AG = DE RN OTA TN
| GAH = | EDF S e Yo
AH = DF R TS TN
A AGH = A DEF v 259.3000.230
| AGH = | DEF Yo
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GH || BC. Ya
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48. d = 8%00 R = 4%00C. r = 2ZX0.50eC.
R-r =4-2 = 2%0.ne.

ABT¥ T8 530000 M S0 dhdmREsE,

C,, Cy, Cy FIREFY OT0IITE,

BK, BL, PQ, RSR¥3y 20333,

Y3 T8 W3T03NRTE,

PQ = RS = 7-8 30.50¢. 3¢T MR, JE3

49. a, a+d, a+2d .. R3¢
ata+2d+a+4d = 39
3a+6d = 39
3(a+2d) = 39

39

a+2d = == = 13 . ()
3

atd+a+3d+a+5d = 51
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a+3d = % = 17 ... (ii) Yo
RE0ETTED (1) 2Ty (i) 00T
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a + 3d = 17 Yo
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- d =-4
g d= 4
20e833 (i) 003 v
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a=5 s8n a=5 d-=
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a
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a
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7
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x% = 2-x =3O
y=x*>; y=2-x
y = x°
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Yy 0 1 4 9 1 4 9
y=2-x
X 0 1 -1 2 -2 3
7] 2 1 3 0 4 -1
Se3rso — (1+1)=2
BT=OOD 5% — Yo
[0$3eas — Yo
SRRy, T — 1,
AY z,;c’e:»’:
xXwg 11 R0.20¢. = 1 35393
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e
9
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8
y=2-x 7
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6
5
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: 3
E 2(U 2)
: 1 (1,1)
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< :—I :—| > x
x1 -4 -3 =2 -1 0 1 2 3 4
1 \
-2
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-3 x=1, x=-2
y1
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TEINSO —
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HTROOD 5%
MG)TWSD Ty — 4
A zeerw
10 X% 11 Fo.loe. = 1 3303
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9
8
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6
5
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2
1
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